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Section A (Reading ) - 20 Marks

A.1. Read the passage carefully and answer the questions.

As the sunshine danced through the trees, Meena climbed the hill slowly and

steadily. Meena was happy. The boy was also happy.

A man in the group looked at Meena. He felt sorry for her. He asked her “My

child, why are you carrying a boy on your back? Don't you feel his load? ”

Meena looked at him in wonder. She could not understand him. (Her brother

was unable to walk). Meena asked,“Load? Of course not! He is my brother!”

i. Choose the correct answer and fill in the blanks.

1)The boy was Meena's
a) brother b)servant c)uncle
2) The man in the group felt for Meena.
a) happy b) sorry c)anxious

3) A word from the passage that means 'surprise' is
a) load b) carrying c) wonder

4) The opposite of fast is

a) slow b) fastly c) slower

i1) Why was Meena carrying her brother on her back ?

(4X 1=4)

(1X1=1)
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A.2. Read the passage carefully and answer the questions.

One night the mother tiger was tired and closed her eyes. The tiger cub saw a
tiny frog, hopping along the ground. The tiger cub pounced, but the frog hopped away.
He chased the frog and caught it, and turned to show his mother. But she was not in

sight. Instead he saw a tiger, bigger than his mother, near him in the jungle.

Q.1. Choose the correct answer and fill in the blanks : 2X1=2)
1. The tiger is a animal.
a) pet b) wild ¢) domestic

2. The mother tiger and her cub lived in a

a) river b) tree ¢) jungle
Q.2. Fill in the blanks: 3X1=3)
1. A word from the passage that means ‘very small’ is
2. The young one of a tiger is a

3. The opposite of far is

A.3. Read the unseen passage and answer the questions.

Aarti is Anu's best friend. She is getting ready to go to Anu's birthday party in the
evening. She buys a big book of stories as a birthday gift for Anu. Aarti wants to wrap
it in red colour paper. She knows that red is Anu's favourite colour but she is not able to
find any red paper. Aarti becomes sad. Looking at Aarti's sad face her mother tells her

to wrap the gift in her red scarf. As soon as she hears this, she becomes delighted.
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Q.1. Circle the correct answer : (4X1=4)
1. Who was Anu's best friend?

a) Aarti b) his mother c¢) Aarti's mother  d) None of the above
2.What did Aarti buy for Anu's birthday?
a) red paper b) red scarf  c) cake d) big book of stories
3.Where was Aarti getting ready to go to in the evening?

a) to buy red paper b) to buy red scarf
¢) to go to Anu's birthday party d) to buy a big book

4.What did Aarti's mother suggest ?

a) to wrap the gift in red paper b) to wrap the gift in red scarf
c) to wrap the gift in gift paper d) to buy cake as a birthday present
Q.2..Fill in the blanks: (4X1=4)

1.The singular of scarves is

2..The opposite of unwrap is

3. My favourite colour is
4. Another word from the passage which means the same as ' present’

Q.3. Why was Aarti sad ? (1X1=1)

Q.4. Write true or false (1X1=1)

1. Anu's birthday party was in the morning.
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Section B ( Textual Questions ) - 5 Marks
Q B.1Answer the following questions: (5X1=5)

1.Why did the child go with the puppy ?

2. Write any one thing that your parents won't let you do now.

3. Who mends our shoes?

4. Name any two domestic animals.

5. Write any one sound that you hear on the road in the morning.

Section-C ( Creative Writing ) 5 Marks

Write five sentences about camel using the words given below.

sand hump ship of the desert store water leaves  padded
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Section-D Grammar (10 Marks)
1. Write plural for the following word.

leaf

2. Underline the silent letter in the following word and write it in the blank.
calm
3. Write the full form of :

Can't

4. Choose the correct option and fill in the blank:

My brother an apple yesterday .( eight / ate )
5. Complete the sentence:
Example :A duck lives in a pond.

A rabbit

6.Write the young one of :

sheep
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7. Rearrange the words to make correct sentence.

patients / A nurse / after /looks

8.Make a sentence using the following word.

train-

9. Fill in the blanks with the opposite of the underlined word:

Monkeys have long tails but dogs have tails.

10.Add ‘-ful’ to the word given in the bracket.

These papers are . (use)

Section-E Vocabulary (5 Marks)
Q.1. Give one word:

to jump on one foot

Q.2. Write the antonym ( opposite ) of-
Thick

Q.3. Give another word for the following:
Mischievous
Q.4. Make a five-letter word using the letters from the given word -

Thousand

Q.5. I make the following sound, Who am [?

I neigh
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Section F ( Spellings) 5 Marks
Q.1. Encircle the correct spelling :
Interupting intreputting interruptting interrupting
Q.2. Make correct word from the jumbled letters :

RIE FDN

Q.3. Write the word that rhyme with :
hill

Q.4. Fill in the blanks to make a meaningful word
P ss ngers

Q.5.Correct the wrongly spelt word and write the correct word in the space given.

enogh
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Section A (12 Marks)

Q1. Choose the correct answer and fill in the blanks.

(1X 4=4)

1. Which unit will you generally use to measure the weight of a water-

melon? ( Kilogram , litre )
2. The numbers that end with 1, 3, 5, 7 and 9 are called

numbers.(even/odd)

3. If we divide24 mangoes equally into 3 baskets, then in each basket, there

will be mangoes. (8/6)
4. x9=063 8/7)
Q2. Do as directed. 2X4=98)

a) Complete the pattern
1) Monday, , Wednesday,

2) 18 21 24

b) Find the secret message

1) 2M2A2T2H2S 2128 2M2A2G212C2A2L

2) 717 TL707VTET TM7Y7 7CTO7UTNTTTR7Y7

c) Convert the following
1) 5000 ml= 1 2) 8L 250 ml=

,Friday

ml
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. T50

000000

rupees

rupees

Section B (12 Marks)

Q3. Choose the correct answer and write the correct option.

(1X4=4)

1. How many corners do 5 rectangles have?

A 21 B) 24 C) 20

2. Choose the heaviest object.

A)
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3. How many 50 paise coins make2 rupees? ( )

A 4 B) 3 C)2

4. Choose the number that will complete the pattern.

36 33 27 24 21
A) 32 B) 30 C) 29
Q4. Answer the following. 2x2=4)

1. Write all the even numbers between 255 and 263.

2. There are three goats and one hen. How many feet are there altogether?

Ans : feet are there altogether

QS. Fill in the gaps. (1x4=4)
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SECTION C (13 MARKS)
Q6. State true or false. (1X3=3)

1) An eye drop bottle holds 1 litre of medicine.

2) 7+7+7=73times 7 is 21

3) An elephant weighs more than 1000 kg.

Q7. Solve the following 2X3=6)
1. Add the following
Rs. Paise
24 50
+ 12 60

2. A jug has a capacity of 5 litres. How many such jugs are needed to fill a

20 litre jar?

3. Raju has 12 candles. He wants to divide them into groups of 4. In the box

below draw the number of candles in each group.

g dddbdgnBBE E




Q8. Multiply using box method. 1X4=4)

X 50 2 TOTAL
52X 19=

10

9 18

SECTION D (13 MARKS)
Q9. Fill in the blanks (1x3=3)

1. = 44+4+4+4+4 = 5 times 4

2. 24+ 6=

3. Complete the pattern * ,
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Q10. Solve the following (2 x 3=6)
1) The weight of a pumpkin is 3 Kg. The weight of a mango is 1 Kg. How

many such mangoes can balance the pumpkin? (Draw the mangoes)

Ans = mangoes can balance the pumpkin.

2) Ravi poured water 6 times with his water bottle to fill a can. Payal poured

water 12 times with her water bottle to fill the can of the same size.

(1)  Whose water bottle holds more water?

(11)  Ravi’s water bottle holds (twice/half/thrice) as much water

as Payal’s water bottle.

3) Bunny’s mother prepared carrot sticks for the breakfast.If 36 carrot sticks

are shared among 6 people, how many carrot sticks will each one get?
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Q11. Fill in the blanks. (4 marks)
A frog jumps 4 steps on its every jump.
A squirrel jumps 3 steps on its every jump.
A rabbit jumps 6 steps on its every jump.

All of them start their jumps from the head of the snake that is box no 0.

b. On which number box will the squirrel reach on its 4" jump?

c. How many jumps of the squirrel equals to 1 jump of the rabbit?

d. On which box will the three meet?

ok sk sk s ke sk s skeosk sk sk
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Section A: Observation and reporting (18 marks)

Q1. Observe the picture and name them. (1x3=3)

i) | i1)

R

iii)

2. Choose the correct option. (4X1=4)
1) helps to cure toothache.

a) Clove b) Banana

¢) Turmeric d) Guava

1) A is used while playing ‘Stappoo’.

a) Ball b) Pen

c¢) Marker d) Bat
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111) The sun rises in the every morning.

a) west b) north

c) east d) south

iv) Thread work done on cloth is called

a) Carving b) Sculptor

c) Pottery d) Embroidery
3. Answer the following.

1) How is a house boat different from other houses?

(3X2=6)

i1) What is a map?

1i1) Why do we wear clothes?

4. List five different ways of saving water. 5)
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Section - B: Identification and Classification (16 Marks)
(1x2=2)

QS. Name the relationship

a) Mother’s mother -

b) Father’s brother -

Q6. Answer the questions.

a) What game are the children playing?

Ans-

Itis an game.

(indoor / outdoor)

b) Name the script. What kind of people use this script?

A B C
° o oo
Ans: oo &5 8o
g
$e &% 63
CE MOCHD
o P Q
. 00 9@
. 9, o
o 0 €
Y W X
e &
9. 0@ 33
e o o0
Q7. Name the following (1x5=5)

a) A plant used as medicine when we get hurt -

b) A game associated with Sachin Tendulkar -

c) The place where the pots are baked -

d) Beautifully decorated boat in water used for rides in Dal lake -
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e) A house made of cement, sand, bricks and water -

Q8. Answer the following questions.

a) Identify the open letter used for sending messages.

Ans
b) Who is the sender? Ahmed 4ou tell. How

re Jr’U'. we ali "rlehdg
Ans misg Ldnua let. H fope &Ou

will come to Agartals in

. . +
¢) To whom has it been written? the vacations.

R‘e:(}ardg o all elders.

(1x5=5

N'{hn d ﬂ" Do

i

Haute No. (5, i*." <_-_"_

' Tf‘f'.lf’..‘*.?..’.".%..;._nr
= New Delhi -

__ \[o]oT
Ans F‘"“""’ :
weena
d) Write the PIN written on it.
Ans
¢) Who brings it to your house?
Ans
Section - C : Discovery of Facts (16 Marks)
Q9. Match the following. “4)
a) Sparrow 1. small family
b) Sitamma ii.  Grains and seeds
c) Kaveri 1. Carry loads
d) Donkey iv.  joint family
Q10.Answer the following. 2x3=6)

a) Write names of two leaves that we eat as food.

Ans-
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b) What things does a potter need to make a pot?

Ans-

c) Where is Chameli’s house? What are the houses made up of in her area?

Ans-

Q11 Draw two signs that you see in your neighbourhood? Write what do

they indicate. One example is given here. (1x2=2)
No parking
They indicate -
Q12. Complete the food chain using the following. 2)

Grass, Snake, Eagle, Frog, Grasshopper

Grass |» [ ) [, [y
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Q13. Mark the following states in the map of India. (1x2=2)

1) Rajasthan 2) Maharashtra

— er ==
INDIA
OUTLINE MAP WITH STATES
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S

Map not to Scale
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